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Zehnerpotenzen

Name: Datum: Ergebnis:

8,562 x 100000 = 3,59 x 100000 =

6 x 100000 = 6,633 x 10 =

5,983 x 1000 = 5,021 x 10 =

4, 66 x 100000 = 2,478 x 1000000 =

1,901 x 100 = 5,7 x 1000000 =

5,779 x 100000 = 9,356 x 1000000 =

3,753 x 100000 = 2,456 x 10000 =

4,287 x 1000000 = 10,471 x 1000 =

7,37 %100 = 6,07 x 100 =

7,732 x 10 = 2,821 x 1000 =
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Multiplizieren Sie Dezimalzahlen mit

§ QX

Zehnerpotenzen

Name: Datum: Ergebnis:

8,562 x 100000 = 856200 3,59 x 100000 = 359000

6 x 100000 = 600000 6,633 x 10 = 66.33

5,983 x 1000 = 5983 5,021 x 10 =50.21

4, 66 x 100000 = 466000 2,478 x 1000000 = 2478000

1,901 x 100 = 190.1 5,7 x 1000000 = 5700000

5,779 x 100000 = 577900 9,356 x 1000000 = 9356000

3,753 x 100000 = 375300 2,456 x 10000 = 24560

4, 287 x 1000000 = 4287000 10,471 x 1000 = 10471

7,37 x 100 = 737 6,07 x 100 = 607

7,732 x 10 ="77.32 2,821 x 1000 = 2821
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